
Weight - Addition and subtraction 

Cian's pumpkin weighs 1 kg 354g. 
Amelia's pumpkin weighs 2kg 488g. 

1 kg 354g + 2kg 488g = * 

1. 

What is the total weight of the 2 pumpkins? 

(a) kg g : (b) 

1 3 0 4 

+ 1 2 7 9 + 

Step 1: Add the grammes Cg). 

Step 2: Add the kilogrammes (kg). 

kg g ~ (c) kg g i Cd) kg 
2 5 4 3 : 2 1 9 8 3 

3 1 9 9 : + 1 043 + 2 

kg g 
1 3 5 4 

+ 2 4, 8, 8 
3 8 4 2 

9 ! (e) kg 
3 2 6 4 

438 + 3 

g 
7 2 6 

1 2 5 

2. Mya's suitcase weighs 6kg 240g. Mom's suitcase weighs 2kg 538g more than Mya's. 
How much does Mom's su itcase weigh? _ kg _ g 

3. A bag of potatoes weighs 3kg 376g. A second bag of potatoes weighs 4kg 297g. 
What is the total weight of the 2 bags of potatoes? _ kg _ g 

7 

( 2kg 853g - 1 kg 592g = * J r Adam bought 2kg 853g of strawberries. 
i, 

I' He used 1 kg 592g to make jam. 
1, 

What weight of strawberries had he left? Ii kg g Ii 

.1 
Step 1: Rename if you must! 2 7~ 15 3 

,, 

Step 2: Subtract the grammes (g). - 1 5 9 2 
Ii• 

Step 3: Subtract the kilogrammes (kg). 1 2 6 1 11 

~ 

-· " ~ , 
~ 

~.~~ •,c· - - ~ ~ --~-

4. (a) kg g ~ (b) kg g ! (c) kg g i (d) kg g i (e) kg g 
3 7 1 9 5 436 ! 6 9 2 4 6 4 9 2 5 7 6 1 

- 1 4 3 5 - 1 1 8 2 ! 5 1 5 3 3 1 5 0 - 2 1 4 3 

Tori's shopping bag weighs 3kg 926g. kg g 
Leo's bag weighs 1 kg 643g less than Tori's. 
How much does Leo's bag weigh? 
_ kg _ g 
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